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0=N=0
_ % N=O ®
0-N=0 | 0=N=0
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1
no. of Ip=1 no. of I.P =5 no. of l.p. =0
There for
NO,*> NO,> NO,~ (Bond Agle)
[D]
0,, B.0=2
H,0, = 0,27, total e~ = 18
2 2
122 1 L0
B.O.—2 e 4l =2 (6-4) = 2><2—
(1)
-+ BO. _ Total w.of Bond
0-0=0 Total ¢ Bond
3

=35 = 1.5
02 0,2~ 0,
(2) (1) (1.5)

1
B.O. x g
0,2~ > 03> 0, (B.l.)

H,0, > O; > O, (Bond length)
[A]

[B]

As bond length « 1/bond order

Bond length is inversely proportional to
bond order.

Bond orderin NO* =3
Bond orderin NO = 2.5
Hence, bond length in NO > NO*

[D]

As Bond strength x Bond order
O,, Totale™ = 16=B.0. = 2
O, Total e7=17=B.0. = 1.5
0,%—, Total e== 18 = B.0. = 1
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400.

O,*, Totale™=15=15=B.0. = 2.5
0,*>0,>0,">> 0,2~
(Order of Bond strength)

[C]
Correct order of dipole moments
CH4<CHCI; < CH,CI,<CH,CI

[A]
s’ ' sp’ '(S:?—o
J
R oF Cl o, Cl H/ﬁ%\H (”)
Q>0,>Q5;>0Q,
[B]

Hydration energy o« polarising power
Na* < Mg?+ < Mg3* < Be3* < A3+

[A]

In frame test thermal excitation
deexcitation takes place in cation with low
Ionisation potential

[D]
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(V) H/'l\'\H sp3
H

sp3 (IV) O=ﬁ|=0 sp3

[C]
i
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e/BNe P
P
F/I N sp3
L p
ol
BF; > PF3>CIF; ¢ §~F spd
F
[A]
Order of B.P.
H,0>SbH;>NH;>AsH;>PH;

V>IV>I>II>II
(Order of Boiling points)
[AC]

1
KO, & KO+ 30,

KO, + H,0 __0°C | KOH + O,



401.

402.

403.
404.

Ul
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M e\F sp3d?, eq. planer

F

F
(1) SI_F sp3d sec saw
F
\/f\VFL
III
(1) [NiClI,]*

[PdCI,]*

(1v) (2nd T.S. element)
for 2"d T.S. element, all ligends are SFL.

[C]

sp3, Tetrahedral

sp?, eq. planer

Ionic Bond

Covalent
H\/' Bond O/

H/O\l ‘/ \H / H ........ O\x /6

........ 7\
H\\v \/H 0”5

H
Coordlnote H- Bond

ond
EIectrovaIent, covalent, Coordinate and H-
Bond, all are present in CuSO, SH,0
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Cl Cl
Moment at 120° will cancel each other

Hnet = 0
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[A]

0(g) + 2e-— 0% (g), AH = 603 kJ mol-! (i)
O(g) + e - 0 (g), AH = -141 kJ mol-!
(i)

Equation (i) and (ii) gives :

O+ e — 0*(g), AH =603 - (-141)

= 744 kJ mol!

[B]

[A]

Radii of anions carrying same charge de-
crease from left to right in a period and
increase down the group.

[B]
A —>Ca(OH),
Lime water
Ca(OH), + CO,—> CaCO; + H,0
Lime White ppt
water (©)
C—> CaCO,4
Ca(OH), + Na,CO,—> CaCO, + NaOH
c B
[D]

As HF is not stronger acid than HCI be-
cause fluorine is more electronegative than
chlorine therefore hydrogen does not do-
nate easily in thanin HCI.

[D]

[B]

As bond dissociation energy decreases in
the order :

Cl,>Br,>F, >1,

[D]



